Simplify without using a calculator. Leave your answer
as an improper fraction in reduced form.
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Simplify:
% -8 There are many
& 9 methods to do this,
6 we'll focus on two

methods.
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4— this problem is an example of
7 a Complex Fraction

6

Complex Fractions: (also known as Compound Fractions)

Fractions whose numerators and/or
denominators also have fractions.

Fractions within fractions

5 One method:
4 Find LCM of all the denominators in the
—— complex fraction.
= l Then multiply the numerator and denominator
6 of the complex fraction by this LCM.
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5 Another method: _ 11 7
4 8 Get ALL the "parts" of the complex fraction Simplify 913 12
s to have the LCD. a1 0
— % Then you can cancel all of the denominators.
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Lo 2 5 Simplify:
Simplify: ¥+ 73 . , Eliminate denominators method:
. Get all denominators to be the 10 . 4
i i 2 same and cancel them. 7‘—“ /_\
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Eliminate denominators method:
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Eliminate denominators method:
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